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https://m.islamqa.info/ar/answers/385439
https://m.islamqa.info/ar/answers/385439
http://www.saaid.net/Doat/Zugail/215.htm

amill s 32 Fpbll agle BSasly dol

D ads B35t 35 40bh ye auds yan alag afle A Lo dgB i 538 coslot @iilsdl aas
by alaus 322 1yag 83315 LAl B aile AN 34g sudd & 34 345 48l pod ©13S 4 &3S &2
(2699) plusa ol «ausl 52 b sl 518 5 waall 32 b Alg 335315 NI b &l

w

e oyaalouall Cjb} clad Lad iegasdl 0'99 ‘.4.”_)? 1yl yuad " 1(2699)" @luo oo Ty O_‘B &99.‘” JB&
‘u.‘ALu.A”Q.].C_).u.u.”J,a.‘ag(dﬂ.s).gcgMgiMO)ulgiwg&agidbgiﬁk_uA)&.uLAJ‘Q.@SLQJQ
M ywsall yU] Ladg

o5Ladg 453 aluall gis ULd g ol wluall 4 pay Lo and Aial o coasl 5 8395 3all 5903l 2dag
Ao pas coay 8388 yoo d sl

J)}T Lugiag ‘(nb.cj a1l ?)59 ‘Jfo.éﬂ_g

(333570) ;@3 Jl5udl Olgx 3a3lall ylaug

alel dlilg

2/2


https://m.islamqa.info/ar/answers/333570

